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Simple Interest

1. A sum of Rs. 12,000 was borrowed at a rate
of simple interest. After four months, Rs. 6000
more was borrowed and rate of interest on the
total principal was doubled that of the
previous rate. At the end of the year, 2800 was
paid as the interest. Find the rate that was
applicable in the initial.

#i;s 12]000 dh jkf'k lk/kj.k C;kt dh nj ls m/kj yh
xbZ FkhA pkj eghuks a ds ckn] #i;s 6000 vkSj m/kj fy;k
x;k vkSj dqy ewy/u ij C;kt dh nj fiNyh nj ls
nksxquh dj nh xbZA o"kZ ds var esa] 2800 dks C;kt ds :i
esa Hkqxrku fd;k x;k FkkA og nj Kkr dhft, tks vkjaHk esa
ykxw FkhA
(a) 12% (b) 16%

(c) 10% (d) 14%
2. A man takes a loan of some amount at some

rate of simple interest. After three years, the
loan amount is doubled and the rate of interest
is decreased by 2%. After 5 years, if the total
interest paid on the whole is Rs.13,600, which
is equal to the same when the first amount was

taken for 
1

11
3

 years, then the loan taken

initially is:
,d O;fDr lk/kj.k C;kt dh fdlh nj ij dqN jkf'k dk
½.k ysrk gSA rhu o"kks ± ds ckn] ½.k jkf'k nksxquh gks tkrh
gS vkSj C;kt nj 2» de gks tkrh gSA 5 o"kks ± ds ckn] ;fn
ewy ij Hkqxrku fd;k x;k dqy C;kt #i;s 13]600 gS] tks

igyh jkf'k ds 
1

11
3

o"kks ± ds fy, tkus ds leku gS] rks

izkjaHk esa fy;k x;k ½.k gS%
(a) Rs. 10,000 (b) Rs. 12,500

(c) Rs. 12,000 (d) Rs. 13,600
3. A person invested a sum of Rs 6,500 at x% per

annum at simple interest and a sum of Rs
7,500 at (x-2)% per annum at simple interest.
If the total interest earned on both the
investments for 3 years is Rs 3,750. Then the
rate of interest on the first investment is:

,d O;fDr us lk/kj.k C;kt ij x% izfr o"kZ dh nj ls
6]500 #i;s dh jkf'k vkSj lk/kj.k C;kt ij (x–2)% izfr
o"kZ dh nj ls 7]500 #i;s dk fuos'k fd;kA ;fn 3 o"kks ±
ds fy, nksuks a fuos'kks a ij vftZr dqy C;kt 3]750 #i;s gSA
fiQj izkFkfedh fuos'k ij C;kt dh nj gS%
(a) 14% (b) 8%

(c) 10% (d) 12%

Simple  Interest/lk/kj.k C;kt
( Practice Sheet With Solution)

4. Two equal sums are lent at 10% and 8% p.a.
on simple interest for ‘t’ years and (t+2) years
respectively. Amount received in each case is
Rs. 36,900. Each sum is:

nks leku jkf'k;k¡ Øe'k% 't' o"kZ vkSj (t+2) o"kks ± ds fy,
lk/kj.k c;kt ij 10» vkSj 8» izfro"kZ dh nj ls m/kj
nh tkrh gSaA izR;sd ekeys esa izkIr jkf'k #i;s 36]900 gSA
izR;sd jkf'k gS%

(a) Rs. 20,200 (b) Rs. 20,500

(c) Rs. 18,100 (d) Rs. 21,500

5. A certain sum is lent at x% p.a. simple interest

for 
x

3
 years. The simple interest of this sum

is equalto one-third of this sum. What is the
value of x?

,d fuf'pr jkf'k x% izfr o"kZ lk/kj.k C;kt ij 
x

3

o"kks ± ds fy, m/kj nh tkrh gSA bl jkf'k dk lk/kj.k C;kt
bl jkf'k ds ,d frgkbZ ds cjkcj gSA x dk ewY; D;k gS\

(a) 9 (b) 10

(c) 6 (d) 12

6. If the simple interest on a sum of Rs. x at 6%
p.a. for two years is double the simple interest
on another sum of Rs. y at 9% p.a. for three
years, then which of the following is true?

;fn #i;s x dh jkf'k ij 6» izfr o"kZ dh nj ls nks o"kks ±
dk lk/kj.k C;kt #i;s y dh nwljh jkf'k ij 9» izfro"kZ
dh nj ls rhu o"kks ± ds fy, lk/kj.k C;kt dk nksxquk gS]
rks fuEufyf[kr esa ls dkSu lk lR; gS\

(a) 3x = 7y (b) x = 4.5y

(c) 2x = 5y (d) 3x = 7y

7. The simple interest on a sum is equal to the
sum of itself while the rate is same as the
number of years for which it is invested. The
number of years is equal to:

fdlh jkf'k ij lk/kj.k C;kt Lo;a ds ;ksx ds cjkcj gksrk
gS tcfd nj mrus gh o"kks ± ds fy, gksrh gS ftrus o"kks ± ds
fy, bls fuos'k fd;k tkrk gSA o"kks ± dh la[;k fdlds
cjkcj gS%

(a) 8 (b) 10

(c) 1 (d) 5
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Simple Interest

8. A certain sum was invested on simple interest.
The amount to which it had grown in five

years was 
1

1
4

 times the amount to which it

had grown in threeyears. The percentage rate
of interest was:

lk/kj.k C;kt ij ,d fuf'pr jkf'k dk fuos'k fd;k x;k
FkkA ftl jkf'k esa ;g ikap lky esa c<+h Fkh] og ml jkf'k

dk 
1

1
4
 xquk Fkh] tks rhu lky esa c<+h FkhA C;kt dh

izfr'kr nj Fkh%
(a) 25% (b) 20%

(c) 15% (d) 10%

9. A borrows a sum of Rs.2000 from his friend B
on 31 December 2007 on the condition that he
will return the same after one year with simple
interest at 8%. However, A gets into a position
of returning the money on 1 July 2008. How
much amount he has to return to B?

A us 31 fnlacj 2007 dks vius fe=k B #i;s 2000 dh
jkf'k bl 'krZ ij m/kj yh fd og bls ,d o"kZ ds ckn 8»
dh nj ls lk/kj.k C;kt ds lkFk ykSVk nsxkA gkykafd] A
1 tqykbZ 2008 dks iSls okil djus dh fLFkfr esa vk tkrk
gSA mls B dks fdruh jkf'k okil djuh gS\

(a) Rs. 2088 (b) Rs. 2080

(c) Rs. 2070 (d) Rs. 2200

10. A person invested a sum of Rs. 18,600 at x%
p.a. and another sum that is twice the former
at (x + 2)% p.a., both at a simple interest. If
the total interest earned on both investments

for 
1

3
2

 years is Rs. 23,110.50, then the rate

of interest p.a. on the second investment is:

,d O;fDr us x% izfr o"kZ dh nj ls #i;s 18]600 dh
jkf'k dk fuos'k fd;k vkSj nwljh jkf'k tks fd (x + 2)%

izfr o"kZ dh nj ls nksxquh gS] nksuks a lk/kj.k c;kt ijA

;fn 
1

3
2

 o"kks ± ds fy, nksuks a fuos'kks a ij vftZr dqy C;kt

#i;s 23]110-50 gS] rks C;kt dh nj izfr o"kZ nwljs fuos'k
ij gSa%

(a) 13% (b) 10.5%

(c) 12.5% (d) 11%

11. Some amount is lent at 10% p.a simple
interest. After 1 year. Rs. 4400 is repaid and
the rest of the amount is repaid at 20% p.a.

If the 2nd years interest is 
11

7
 of the first

years interest. find the amount of money that
was lent out initially

dqN jkf'k 10» okf"kZd lk/kj.k C;kt ij m/kj nh tkrh
gSA 1 lky cknA #-4400 dk iquHkZqxrku fd;k tkrk gS vkSj
'ks"k jkf'k 20» çfr o"kZ dh nj ls pqdkbZ tkrh gSA ;fn

nwljs o"kZ dk C;kt igys o"kZ ds C;kt dk 
11

7
 gSA çkjaHk

esa m/kj nh xbZ jkf'k Kkr dhft,
(a) Rs. 12000 (b) Rs. 13000

(c) Rs. 14000 (d) Rs. 15000

12. Mohan borrowed 10,000 rupees from Sohan.

Sohan charges a simple interest at 10% p.a.

Mohan returned 4000 Rs. After 1 year which

included the interest for first year. He returned

the remaining amount after 2 more years. What

is the interest mohan ended up paying.

eksgu us lksgu ls 10]000 #i, m/kj fy,A lksgu 10»
okf"kZd lk/kj.k C;kt ysrk gSA eksgu us 1 o"kZ ds ckn
4000 #i;s ykSVk,A ftlesa igys o"kZ dk C;kt 'kkfey gSA
mlus 'ks"k jkf'k 2 vkSj o"kks± ds ckn okil dj nhA vUr esa
dqy mlus fdruk C;kt pqdk;k gSA
(a) 2000 (b) 2400

(c) 2500 (d) 3000

13. Veeru invested Rs. 10,000 at 5% Simple

annual interest, and exactly after two years,

Jay invested Rs. 8000 at 10% simple annual

interest. How many years after Veeru’s

investment, will their balances, i.e., principle

plays accumulated interest, be equal?

oh: us :-10]000 dk fuos'k 5» lk/kj.k okf"kZd C;kt ij
fuos'k fd;k rFkk t; us :-8000 dk 10» lk/kj.k okf"kZd
C;kt ij fuos'k fd;k oh: ds fuos'k ds fdrus lky ckn
mudh jkf'k cjkcj gks tk;sxhA

(a) 10 (b) 12

(c) 14 (d) 8

14. Suchita, Babita and Garima invest money in

the ratio 3 : 4 : 5 in fixed deposits having

respective annual interest rates in the ratio of

6 : 5 : 4. what is their total interest income

(in Rs.) After a year. will Babita's interest

income exceed Suchita's by Rs. 250?

lqfprk] cchrk vkSj xfjek 6 % 5 % 4 ds vuqikr esa lacaf/r
okf"kZd C;kt njksa okys lkof/ tek esa 3 % 4 % 5 ds vuqikr
esa iSlk fuos'k djrs gSaA ,d o"kZ ds ckn mudh dqy C;kt
vk; (#i;s esa) fdruh gS\ ;fn cchrk dk C;kt vk; lqfprk
ds C;kt ls #- 250 vf/d gS\
(a) 6000 (b) 7250

(c) 6350 (d) 7000
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Simple Interest

15. A father left a will of Rs. 35 lakhs between his

two daughters aged 8.5 and 16 such that they

may get equal amounts when each of them

reach the age of 21 years. The original amount

of Rs. 35 lakh has been interested to be

invested at 10% p.a simple interest. How

much did the elder daughter get at the time

of the will?

,d firk #- 35 yk[k :i;s dh lEifÙk viuh nks iq=kh
ftudh mez 8-5 vkSj 16 o"kZ dh gS esa bl izdkj ckVrk gS
fd tc os nksuksa 21 o"kZ dh gks tk;s rks mUgsa cjkcj /u
feys ;fn lk/kj.k C;kt dh okf"kZd nj 10» gSA lEifÙk esa
cM+h iq=kh dk fgLlk crkvksa\
(a) Rs. 17.5 Lak (b) Rs. 21 Lakh

(c) Rs. 15 Lakh (d) Rs. 20 Lakh

16. The price of a T.V set is worth Rs. 20,000 that

needs to be paid in 20 installments of Rs. 1000

each. If the rate of interest be 6% p.a and the

I installment be paid at the time of purchase,

then the value of the last installment covering

the interest will be?

,d T.V lsV dh dher #- 20]000 dh gSA ftls 1000
:i;s fd 20 fdLrksa esa pqdrk gSA ;fn C;kt dh nj 6»
okf"kZd gks vkSj •jhn ds le; igyh fd'r dk Hkqxrku
fd;k tk,] rks C;kt dks doj djus okyh vafre fdLr dk
ewY; gksxk\
(a) Rs. 1700 (b) Rs. 1800

(c) Rs. 1950 (d) Rs. 2000

17. Find SI on Rs. 3000 at 18% p.a for the period

5 February 2013 to 18 April 2013, both days

inclusive.

3000 :i;s dk 18» çfr o"kZ dh nj ls 5 iQjojh 2013
ls 18 vçSy 2013 dh vof/ ds fy, lk/kj.k C;kt Kkr
djksa (nksuksa fnu lfEefyr)A
(a) Rs. 108 (b) Rs. 439

(c) Rs. 180 (d) None of these

18. A sum of Rs. 4000 is partly Rent at the rate

of 4% and remaining part at the rate of 3%

for 2 years. In what ratio is the money parted

so that the interest received after two years

is Rs. 280.

A dh jkf'k :i;s 4000 dk vkaf'kd Hkkx 4» dh nj ls
vkSj 'ks"k Hkkx 3» dh nj ls 2 o"kZ ds fy, fuos'k djrk
gSA /u dks fdl vuqikr esa ckaVk tk, fd nks o"kZ ckn çkIr
C;kt #-280 gksA
(a) 1 : 1 (b) 2 : 1

(c) 1 : 2 (d) 1 : 3

19. What annual installment will discharge a loan

of Rs. 1025 due in 2 yrs. at 5% per annum?

1025 #i;s dk Hkqxrku nks o"kZ esa 5» dh nj ls okf"kZd

fdLr ds :i esa fd;k tkrk gSA okf"kZd fdLr crkvksaA
(a) 200 (b) 300

(c) 400 (d) 500

20. A certain sum of money amounts to  Rs.

17,688 in 4 years. If the rate of interest is

increased by 25% the amount becomes  Rs.

18360 in same time Then find the rate of

interest?

/u dh ,d fuf'pr jkf'k 4 o"kZ esa 17]688 :i;s gks tkrh

gSA ;fn C;kt dh nj 25» c<+k nh tkrh gS rks jkf'k leku

le; esa 18360 :- gks tkrh gSA rks C;kt nj Kkr dhft;s\
(a) 6% (b) 4.48%

(c) 5% (d) 4%

21. A sum of Rs. 10,000 is divided into two parts

such that the simple interest on first part for

2
8 %

5
 years at 

2
6 %

3
 p.a is double the simple

interest on the second part for 
3

2 %
4

 years at

8% p.a. what is the difference between the two

parts?

,d dh jkf'k 10]000 :i;s dks nks Hkkxksa esa bl çdkj

foHkkftr fd;k tkrk gS fd igys Hkkx ij 2
8 %

5
 o"kks± ds

fy, 2
6 %

3
 çfro"kZ dh nj ls lk/kj.k C;kt nwljs Hkkx

ij 3
2 %

4
 o"kks± ds fy, 8» okf"kZd nj ls lk/kj.k C;kt

dk nksxquk gSA nksuksa Hkkxksa esa D;k varj gS\
(a) Rs. 1200 (b) Rs. 600

(c) Rs. 800 (d) Rs. 620

22. A sum amounts to Rs. 14,395.20 at 9.25% p.a

simple interest in 5.4 years. What will be the

simple interest on the same sum at 8.6% p.a

in 4.5 yrs.?

,d jkf'k 9-25» okf"kZd lk/kj.k C;kt dh nj ls 5-4

o"kks ± esa #-14]395-20 gks tkrh gSA mlh jkf'k ij 8-6»

çfr o"kZ dh nj ls 4-5 o"kZ esa lk/kj.k C;kt D;k gksxk\
(a) 3627 (b) 3715.20

(c) 3672 (d) 3797.76
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Simple Interest

23. A mobile can be purchased on cash payment
of Rs. 1500. But the same mobile can also be
purchased on cash down payment of Rs. 350
and rest can be paid in three equal annual
installments of Rs. 400 for next three years.
Find the rate of simple interest.

,d eksckby 1500 #i;s ds udn Hkqxrku ij •jhnk tk
ldrk gSA ogh eksckby 350 :i;s ds udn vkSj 'ks"k 400
:i;s dh rhu leku okf"kZd fdLrksa esa Hkqxrku ij Hkh •jhnk
tk ldrk gSA lk/kj.k C;kt dh nj Kkr dhft,A

(a)
2

24
3

% (b)
2

36
3

%

(c)
2

2
9

% (d)
2

34
3

%

24. A person invested one-fourth of the sum of

Rs.25,000 at a certain rate of simple interest
and the rest at 4% p.a. higher rate. If the total
interest received for 2 years is Rs.4,125. What
is the rate at which the second sum was
invested?

,d O;fDr us 25]000 #i;s dh ,d&pkSFkkbZ jkf'k lk/
kj.k C;kt dh fdlh fuf'pr nj ij rFkk 'ks"k jkf'k 4»
izfr o"kZ mPp nj ls fuos'k dhA ;fn 2 o"kks ± ds fy,
izkIr dqy C;kt 4]125 #i;s gS] rks nwljh jkf'k dks fdl
nj ij fuos'k fd;k x;k Fkk\
(a) 9.5% (b) 9.25%
(c) 9.255% (d) 7.5%

25. The rate of interest for the first 2 years is
6% p.a. for next 3 years is 10% p.a. and for
the period beyond 5 years is 12% p.a. If a
person gets Rs.12,771 as simple interest after
7 years, then how money did he invest?

C;kt dh nj igys 2 o"kks ± ds fy, 6» izfr o"kZ] vxys
rhu o"kks ± ds fy, 10» izfr o"kZ rFkk 5 o"kks ± ds ckn dh
vof/ ds fy, 12» gSA ;fn ,d O;fDr dks 7 o"kks ± ds
ckn lkèkkj.k C;kt ds :i esa 12]771 #i;s izkIr gksrs
gS a] rks mlus fdruh jkf'k fuos'k dh Fkh\
(a) Rs.19,450 (b) Rs.19,350
(c) Rs.19,300 (d) Rs.20,000

26. A person invested a total of Rs.57,500 at 4%,
5% and 8% per annum simple interest. At the
end of the year, he received equal interest
in all the three cases. The amount invested
at 5% was:

,d O;fDr us dqy 57]500 #i;s dks 4»] 5» vkSj 8»
ok£"kd dh nj ls lk/kj.k C;kt ij fuos'k fd;kA o"kZ
ds var esa] mls rhuks a ekeyksa ds leku C;kt izkIr gqvkA
5» ij fuosf'kr jkf'k D;k Fkh\
(a) Rs.25,000 (b) Rs.20,750
(c) Rs.20,000 (d) Rs.37,500

27. A person invested a total of ` 9,000 in three

parts at 3%, 4% and 6% per annum on simple

interest. At the end of a year, he received

equal interest in all three cases. The amount

invested at 6% is

,d O;fDr lk/kj.k C;kt ij ` 9]000 dks rhu Hkkx esa
3»] 4» vkSj 6» dh nj ls fuos'k djrk gSA ,d o"kZ ds
var esa] mls rhuks a ekeyksa esa leku C;kt izkIr gqvkA 6»
ij fuosf'kr jkf'k fdruh gS\

(a) ` 2,000 (b) ` 3,000

(c) ` 4,000 (d) ` 5,000

28. A sum of Rs.12,800 is invested partly at 15%

per annum and the remaining at 12% per

annum simple interest. If the total interest

at the end of 3 years is Rs.5085. Then how

much money was invested at 15% per annum.

12]800 #i;s dh ,d jkf'k va'kr% 15» izfr o"kZ rFkk
va'kr% 12» izfr o"kZ lk/kj.k C;kt ij fuos'k dh tkrh
gSA ;fn 3 o"kZ ds var esa dqy C;kt 5]085 #i;s gS] rks
15» izfr o"kZ ij fdruh jkf'k fuos'k dh x;h Fkh\

(a) Rs.5200 (b) Rs.7500

(c) Rs.5800 (d) Rs.5300

29. A sum of Rs.17,200 is lent out at simple

interest in two parts for 2 years at 8% p.a.

and 10% p.a., respectively. If the total interest

received after 2 years is Rs.3,008, then the

money lent (in Rs) at the rate of 8% p.a. is:

17]200 #i;s dh jkf'k lk/kj.k C;kt ij nks Hkkxks a esa 2
lky ds fy, Øe'k% 8» çfr o"kZ dh nj ls vkSj 10»
çfr o"kZ m/kj nh tkrh gSA ;fn 2 o"kZ ds ckn çkIr
dqy C;kt 3]008 #i;s gS] rks 8» çfr o"kZ dh nj ls
m/kj fn;k x;k /u (# esa) gS%

(a) 6400 (b) 9200

(c) 9800 (d) 10800

30. Rs.21750 is invested by a person in the bank

account of his two sons whose ages are 9 years

and 13 years in such a way that they will get equal

amount at an age of 21 years at the rate of 4.5%

per annum. Find the share of younger child.

,d O;fDr vius nks cPpksa ftudh vk;q 9 o"kZ vkSj 13
o"kZ gS] ds cSad [kkrks a esa 21]750 #i;s dh /ujkf'k bl
izdkj fuosf'kd djrk gS rkfd 21 o"kZ dh vk;q gksus ij
4-5» okf"kZd nj ls budks leku /u izkIr gksaA NksVs cPps
dk Hkkx Kkr dhft,A
(a) Rs.10,200 (b) Rs.11,550

(c) Rs.9,900 (d) Rs.11,475
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Simple Interest

31. A certain sum invested at a rate of 8% p.a.

for 
1

3
2

 years at simple interest is Rs.2,944

less than the simple interest on the same sum
for 10 years at double the rate of interest.
The sum (in Rs.) is:

lk/kj.k C;kt ij 8» izfr o"kZ dh nj ls 1
3

2
 o"kks ± ds

fy, fuos'k fd, x, ,d fuf'pr ewy/u dk feJ/u]
leku ewy/u ls 10 o"kks ± ds fy, C;kt dh nksxquh nj
ij izkIr lk/kj.k C;kt ls 2944 #i;s de gSA ewy/u
(#- esa) fdruk gS\
(a) 9,800 (b) 9,200
(c) 9,000 (d) 9,500

32. A certain sum invested at simple interest for
3 years amounts to Rs.11,268 and the same
sum invested at simple interest for 5 years
amounts to Rs.12,780, with the rate of
interest being the same in both the cases.
What is the rate of interest p.a.?

3 o"kks ± ds fy, lk/kj.k C;kt ij fuos'k fd, x, ,d
fuf'pr ewy/u dk feJ/u 11]268 #i;s gS vkSj 5 o"kks ±
ds fy, mlh ewy/u dk feJ/u 12]780 #i;s gS] tcfd
nksuks a fLFkfr;ksa esa C;kt dh nj cjkcj gSA izfr o"kZ C;kt
nj fdruh gS\
(a) 7.2% (b) 7.5%
(c) 8.4% (d) 9.5%

33. A certain sum on simple interest becomes Rs.
49,600 in 3 years and Rs. 56,000 in 5 years.
If the rate of interest had been 2% more, then
in how many years would the sum have
doubled?

dksbZ jkf'k lk/kj.k C;kt ij 3 o"kks± esa Rs. 49]600 vkSj 5
o"kks± esa Rs.56]000 gks tkrh gSA ;fn C;kt dh nj 2» vf/d
gksrh] rks jkf'k fdrus o"kks± esa nksXkquh gks tkrh\

SSC CGL 12/04/2022 (Shift- 03)

(a) 10 (b) 8

(c) 12 (d) 20

34. If the simple interest on a certain sum of
money borrowed for 4 years at 9.5% per
annum exceeds the simple interest on the
same sum for 3 years at 12.5% per annum by

Rs 225, then the sum borrowed is:

9.5% dh okf"kZd C;kt nj ij] 4 o"kZ ds fy, m/kj yh
xbZ fdlh fuf'pr jkf'k ij lk/kj.k C;kt] 12.5% dh
okf"kZd C;kt nj ij] 3 o"kZ ds fy, m/kj yh xbZ leku
jkf'k ij lk/kj.k C;kt ls #- 225 vf/d gS] rks m/kj yh
xbZ jkf'k Kkr djsaA

SSC CHSL 6/08/2021 (Shift- 03)

(a) Rs 42,000 (b) Rs 48,000

(c) Rs 35,000 (d) Rs 45,000

35. The 12% interest earned on a sum of money
of Rs 2,60,000 is to be used for awarding 24
scholarships of equal value every year in a
school. What is the value (in Rs) of each

scholarship?

#- 2]60]000 dh /ujkf'k ij vftZr 12» C;kt dk mi;ksx]
Ldwy esa gj o"kZ leku ewY; dh 24 Nk=kksa dks Nk=ko`fÙk
iznku djus ds fy, fd;k tkuk gSA izR;sd Nk=ko`fÙk dk
ewY; (#- esa) fdruk gS\

SSC CHSL 6/08/2021 (Shift- 02)

(a) 1250 (b) 1300

(c) 1150 (d) 1200

36. The difference between the simple interest on a
fixed amount for 7 years and on the same amount
for 12 years is Rs 2,500. If the rate of interest is

10% p.a., then the amount is:

,d fuf'pr jfk'k 7 o"kks± ds fy, vkSj mlh jkf'k ij 12
o"kks± ds fy, lk/kj.k C;ktksa dk varj #- 2]500 gSA ;fn
C;kt dh nj 10» okf"kZd gS] rks ml jkf'k dh x.kuk dhft,\

SSC CHSL 11/08/2021 (Shift- 01)

(a) Rs 6,000 (b) Rs 4,500

(c) Rs 5,500 (d) Rs 5,000
37. A certain sum of money amounts to Rs 9,766

in 3 years at simple interest at R% per annum

and to Rs 10,849 in
1

4
2

 years at the same rate

of simple interest. The value of R is:

dksbZ /ujkf'k R% okf"kZd lk/kj.k C;kt dh nj ij 3 o"kZ
esa #- 9]766 gks tkrh gS vkSj mlh lk/kj.k C;kt nj ij

1
4

2
 o"kZ esa #- 10]849 gks tkrh gSA R dk eku Kkr djsaA

SSC CHSL 11/08/2021 (Shift- 02)

(a) 9.5% (b) 8.5%

(c) 9% (d) 8%

38. Aman invests an amount of Rs.1,05,750 at
simple interest in the name of his son, daughter
and his wife in such a way that they get the
same interest after 3, 4 and 5 years,
respectively. If the rate of interest is 5% per

annum, then the amount invested for the wife is:

dksbZ O;fDr vius csVs] csVh vkSj viuh iRuh ds uke] #-
1]05]750 dh jkf'k lk/kj.k C;kt ij bl izdkj fuosf'kr
djrk gS fd mUgsa Øe'k% 3] 4 vkSj 5 o"kZ ckn leku C;kt
izkIr gksrk gSA ;fn C;kt nj 5» okf"kZd gS] rks iRuh ds
fy, fuos'k dh xbZ jkf'k Kkr djsaA

SSC CHSL 12/08/2021 (Shift- 03)

(a) Rs 25,000 (b) Rs 28,000

(c) Rs 27,000 (d) Rs 30,000
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Simple Interest

39. A sum of Rs 4,000 amounts to Rs 5,008 in
three years at simple interest at the rate of x%
per annum. If the interest rate becomes (x +

2.6)%, then the revised maturity amount will be:

x% okf"kZd lk/kj.k C;kt dh nj ij #- 4]000 dh jkf'k
rhu o"kZ es a #- 5]008 gks tkrh gSA ;fn C;kt nj
(x + 2.6)% gks tk,] rks la'kksf/r ifjiDork jkf'k Kkr djsaA

SSC CHSL 15/04/2021 (Shift- 03)

(a) Rs 5,320 (b) Rs 5,330

(c) Rs 5,420 (d) Rs 5,200

40. A sum of Rs. x amounts to Rs. 9,246 in 4 years

and to Rs. 11,298.75 in 
1

7
2

years, at y% p.a.

simple interest. The values of x and y are,
respectively:

#- x dh jkf'k y% okf"kZd lk/kj.k C;kt dh nj ij 4

o"kZ esa #- 9]246 vkSj 1
7

2
 o"kZ esa #- 11]298-75 gks tkrh

gSA Øe'k% x vkSj y dk eku Kkr djsaA
SSC CHSL 19/04/2021 (Shift- 01)

(a) 6900 and 8.5% (b) 6800 and 8.5%

(c) 6500 and 8% (d) 7200 and 7.5%

41. A certain sum amounts to Rs15,748 in 3 years
at r % p.a. simple interest. The same sum amounts
to Rs 16,510 at (r + 2) % p.a. simple interest in

the same time. What is the value of r?

,d fuf'pr /ujkf'k r% okf"kZd lk/kj.k C;kt ij 3 o"kksZa
esa :i;s 15]748 gks tkrh gSA ogh /ujkf'k (r + 2)% okf"kZd
lk/kj.k C;kt ij mrus gh le; esa 16]510 gks tkrh gSA r
dk eku Kkr djsaA

SSC MTS 27/10/2021 (Shift- 02)

(a) 8% (b) 9.5%

(c) 9% (d) 8.5%

42. A sum was invested at simple interest at x%

p.a. for 
1

2
2

years. Had it been invested at (x +

3)% for the same time, it would have fetched
Rs 585 more. The simple interest on the same

sum for 4
2

3
years at 14% p.a. is:

dksbZ jkf'k x% okf"kZd lk/kj.k C;kt dh nj ij 
1

2
2

 o"kZ ds

fy, fuosf'kr dh tkrh gSA ;fn bl jkf'k dks (x + 3)% dh
nj ij leku le; ds fy, fuosf'kr fd;k tkrk] rks bl
jkf'k ls 585 :i;s vf/d izkIr gksrkA leku jkf'k ij 14»

okf"kZd nj ls 4
2

3
 o"kZ eas izkIr lk/kj.k C;kt Kkr djsaA

SSC MTS 27/10/2021 (Shift- 02)

(a) Rs 4,732 (b) Rs 5,096

(c) Rs 4,900 (d) Rs 5,460
43. A certain sum amounts to Rs 4,600 after 5

years and to Rs 6,000 after 8 years at the
same rate of simple interest per annum. What
will be the simple interest on a sum of Rs

8,500 for 
1

6
2

 years at the same rate?

okf"kZd lk/kj.k C;kt dh leku nj ij] dksbZ fuf'pr jkf'k
5 o"kZ esa #- 4]600 vkSj 8 o"kZ esa #- 6]000 gks tkrh gSA

leku nj ij] #- 8]500 dh jkf'k ij 
1

6
2

 o"kZ esa izkIr

lk/kj.k C;kt Kkr djsaA
SSC MTS 08/10/2021 (Shift- 02)

(a) Rs 11,375 (b) Rs 11,460

(c) Rs 10,215 (d) Rs 10,515

44. A salesperson, with a view to promote sales of
an item, applies the principle of simple
interest. He declares that 300 pieces of the
item can be obtained immediately against cash
payment, but a customer will get only 200
pieces of the item if he defers the payment for
a year. What is the rate percentage of interest

on the whole?

,d foØsrk] ,d oLrq dh fcØh dks c<+kok nsus ds fy,]
lk/kj.k C;kt ds fl¼kar dks ykxw djrk gSA og ?kks"k.kk
djrk gS fd udn Hkqxrku djus ij oLrq ds 300 ihl rqjar
izkIr fd, tk ldrs gSa] ysfdu ;fn xzkgd ,d lky rd
Hkqxrku jksds j[krk gS rks mls oLrq ds dsoy 200 ihl fey
ldsaxsA dqy fcØh ij izfr'kr C;kt nj dh x.kuk djsa\

SSC MTS 05/10/2021 (Shift- 01)

(a) 30 % (b) 25 %

(c) 50 % (d) 40 %

45. Kirti invested a sum of money at a certain rate
of simple interest per annum for 3 years in
“Bachat scheme”. Had she invested the same
sum in “Shiksha scheme” for 3 years which
has a 2% higher simple interest rate per
annum, the investment would have fetched
Rs.540 more. How much did Kirti invest?

dhfrZ us ,d ¶cpr ;kstuk¸ esa okf"kZd lk/kj.k C;kt dh
,d fuf'pr nj ij ,d jkf'k dk fuos'k 3 o"kkZsa ds fy,
fd;kA ;fn mlus leku jkf'k dk fuos'k 3 o"kksZa dh vof/
ds fy, ¶f'k{kk ;kstuk¸ esa igys okyh okf"kZd C;kt nj ls
2» vf/d dh nj ij fd;k gksrk] rks mls fuosf'kr jkf'k
ij :i;s 540 vf/d dk C;kt izkIr gksrkA dhfrZ us fdruh
jkf'k dk fuos'k fd;k Fkk\

SSC MTS 05/07/2022 (Shift- 03)

(a) Rs.9500 (b) Rs.9000

(c) Rs.7000 (d) Rs.8000
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Simple Interest

46. A sum of Rs.36,000 is divided into two parts,

A and B, such that the simple interest at the

rate of 15% p.a. on A and B after two years

and four years, respectively, is equal. The total

interest (in Rs.) received from A is:

#i;s 36]000 dh /ujkf'k dks nks Hkkxksa A vkSj B esa bl
izdkj foHkkftr fd;k tkrk gS fd 15» ok£"kd nj ij A vkSj
B ij Øe'k% nks o"kZ vkSj pkj o"kZ ckn izkIr lk/kj.k C;kt
cjkcj curk gSA A ls izkIr dqy C;kt (#i;s esa) Kkr djsaA

SSC CPO 25/11/2020 (Shift- 02)

(a) 7,200 (b) 5,400

(c) 3,600 (d) 1,800

47. The difference of simple interest from two

banks on Rs. 8,000 in 3 years is Rs. 800. If

the rate of interest per annum in two banks

are R
1
 and R

2
, then what is the value of R

1
 –

R
2
? (Where R

1
 > R

2
)

3 o"kZ esa Rs.8]000 ij nks cSadks a ds lk/kj.k C;kt dk
varj Rs.800 gSA ;fn nks cSadks a esa C;kt dh çfro"kZ nj
R

1
 rFkk R

2
 gS] rks R

1
 – R

2
 dk eku D;k gS\ (tgk¡

R
1
 > R

2
)

SSC CGL TIER - II 02/03/2023

(a)
1

5 %
3

(b)
1

3 %
3

(c)
1

1 %
3

(d)
1

2 %
3

48. What is the ratio of the simple interest earned

on a certain amount at the rate of 21% per

annum for 8 years to that earned on the same

sum at the same rate for 21 years?

,d fuf'pr /ujkf'k ij 8 o"kZ esa 21» okf"kZd nj ls
vftZr lk/kj.k C;kt dk mlh /ujkf'k ij 21 o"kZ esa leku
nj ls vftZr lk/kj.k C;kt ls vuqikr D;k gS\

SSC CGL TIER- II 03/03/2023

(a) 8 : 21 (b) 21 : 5

(c) 5 : 21 (d) 21 : 8

49. The simple interest on a sum of Rs X in 5

years is 
2

5
 of the principal. What is the annual

rate of interest?

5 o"kks± esa] Rs. X dh jkf'k ij lk/kj.k C;kt] ewy/u dk

2

5
 gSA C;kt dh okf"kZd nj D;k gS\

SSC CGL TIER- II 06/03/2023

(a) 5% (b) 12%

(c) 8% (d) 10%

50. A sum triple itself in 9 years at simple interest.

Find the rate of interest per annum is.

,d jkf'k lk/kj.k C;kt ij 9 o"kZ esa Lor% dh frxquh gks
tkrh gSA C;kt dh okf"kZd nj Kkr dhft,A

SSC CGL TIER- II 07/03/2023

(a)
2

38 %
9

(b)
1

33 %
3

(c)
1

27 %
9

(d)
2

22 %
9

51. The simple interest on a certain sum for 3

years at 14% p.a. is Rs.4,200 less than the

simple interest on the same sum for 5 years

at the same rate. Find the sum.

,d fuf'pr jkf'k dk 3 o"kZ ds fy, 14» ok£"kd dh
nj ls lk/kj.k C;kt] leku jkf'k ij leku nj ij 5
Ok"kks a Z ds lk/kj.k C;kt ls 4]200 #i;s de gSA jkf'k
Kkr dhft,A

SSC CGL 01/12/2022 (Shift- 03)

(a) Rs.16,000 (b) Rs.10,000

(c) Rs.15,000 (d) Rs.12,000

52. Damani purchased an item costing Rs.7,500

and paid Rs.3,500 as a down payment for the

same. If the simple interest charged for the

remaining amount is 9% per annum and

Damani cleared all dues after 4 months of the

purchase, how much did Damani pay after 4

months as interest?

nkeuh us 7]500 #i;s dh ykxr okyh ,d oLrq [kjhnh
vkSj mlh ds fy, Mkmu isesaV ds :i esa 3]500 #i;s
dk Hkqxrku fd;kA ;fn 'ks"k jkf'k ds fy, fy;k x;k
lk/kj.k C;kt 9» izfr o"kZ gS vkSj nkeuh us [kjhn ds
4 eghus ckn cdk;k jkf'k dk Hkqxrku fd;k] rks nkeuh
us 4 eghus ds ckn C;kt ds :i eas fdruk Hkqxrku fd;k\

SSC CGL 01/12/2022 (Shift- 04)

(a) Rs.120 (b) Rs.100

(c) Rs.132 (d) Rs.125

53. What annual installment will discharge a debit

of Rs.5,664 in 4 years at 12% simple interest?

12» lk/kj.k C;kt ij 4 o"kks a Z eas 5]664 #i;s ds ½.k
dks] dkSu&lh ok£"kd fd'r ls Hkqxrku fd;k tk,xk\

SSC CGL 02/12/2022 (Shift- 03)

(a) Rs.1,230 (b) Rs.1,210

(c) Rs.1,200 (d) Rs.1,220
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Simple Interest

54. Rs.5,000 is divided into two parts such that

if one part is invested at 4% and the other

at 5%, then the whole annual interest from

both the sums is Rs.223. How much was

invested at 4%?

5]000 #i;s dks nks Hkkxks a eas bl izdkj foHkkftr fd;k
tkrk gS fd ,d Hkkx dks 4» dh nj ls vkSj nwljs dks
5» dh nj ls fuos'k fd;k tkrk gS] rks nksuks a jkf'k;ks a ls
izkIr dqy ok£"kd C;kt 223 #i;s gSA 4» ij fdruk
fuos'k fd;k x;k Fkk\

SSC CGL 03/12/2022 (Shift- 01)

(a) Rs.2,600 (b) Rs.2,700

(c) Rs.2,400 (d) Rs.2,300

55. A sum becomes Rs.15,500 in 7 years on simple

interest at the rate of 30% per annum. What

is the total interest for the 7 years?

,d jkf'k lk/kj.k C;kt ij 30» izfro"kZ dh nj ls 7
o"kks a Z esa 15]500 #i;s gks tkrh gSaA 7 o"kks a Z dk dqy C;kt
fdruk gSa\

SSC CGL 03/12/2022 (Shift- 04)

(a) Rs.12,200 (b) Rs.1,47,000

(c) Rs.10,500 (d) Rs.11,500

56. A certain sum of money becomes triple of

itself in 26 years at simple interest. In how

many years it will becomes five times of itself?

26 o"kks a Z esa ,d fuf'pr jkf'k lk/kj.k C;kt ij Lo;a
dh rhu xquk gks tkrh gSA fdrus o"kks a Z esa og Lo;a dh
ik¡p xquk gks tk,xh\

SSC CGL 05/12/2022 (Shift- 02)

(a) 64 years (b) 52 years

(c) 56 years (d) 60 years

57. A car with a price of Rs.6,50,000 is bought

by making some down payment. On the

balance, a simple interest of 10% is charged

in lump sum and the money is to be paid in

20 equal annual instalments of Rs.25,000. How

much is the down payment?

6]50]000 #i;s dh dher okyh dkj dqN Mkmu isesaV
(rRdky Hkqxrku) djds [kjhnh tkrh gSAS 'ks"k jkf'k ij]
,deq'r 10» dk lk/kj.k C;kt yxk;k tkrk gS vkSj
jkf'k dk Hkqxrku 25]000 #i;s dh 20 leku ok£"kd
fd'rksa eas fd;k tkuk gSA Mkmu isesaV (rRdky Hkqxrku)
dh jkf'k fdruh gS\

SSC CGL 06/12/2022 (Shift- 02)

(a) Rs.1,55,945 (b) Rs.1,95,455

(c) Rs.1,94,555 (d) Rs.1,45,955

58. A person lent Rs. 23000 to B for 3 years and
Rs. 19000 to C for 4 years on simple interest
at the same rate of interest and received Rs.
3625 in all from both of them as interest. What
is the annual rate of interest?

,d O;fDr us B dks 3 Ok"kksa ds fy, 23000 #i;s rFkk C
dks 4 o"kksaZ ds fy, 19000 #i;s C;kt dh leku nj ls
lk/kj.k C;kt ij m/kj fn, rFkk nksuksa ls dqy 3625 #i;s
C;kt ds :i esa izkIr fd, C;kt dh ok£"kd nj D;k gS\

SSC CGL 06/12/2022 (Shift- 04)

(a) 1.5 % (b) 3 %

(c) 2.5 % (d) 4 %

59. A person lent certain sum of money at the

annual rate of 7% on simple interest and the

interest received in 11 years is Rs. 920 less

than the sum lent. What is the sum lent?

,d O;fDr fdlh fuf'pr jkf'k dks 7» dh ok£"kd nj
ls lk/kj.k C;kt ij m/kj nsrk gS rFkk 11 o"kks a Z eas izkIr
fd;k x;k C;kt m/kj nh xbZ jkf'k ls 920 #Ik;s de
gSA m/kj nh xbZ jkf'k D;k gS\

SSC CGL 07/12/2022 (Shift- 01)

(a) Rs.41200 (b) Rs.4000

(c) Rs.52000 (d) Rs.2400

60. A sum is deposited in a bank which gives simple

interest. The sum becomes 1.25 times in 3

years. If there is a requirement of Rs.7,60,000

after seven years, how much amount (in Rs.)

should one deposit to fulfil the requirement?

,d jkf'k ,d cSad eas tek dh tkrh gS tks lk/kj.k
C;kt nsrk gSA jkf'k 3 o"kks a Z esa 1-25 xquk gks tkrh gSA
;fn lkr o"kks a Z ds ckn 7]60]000 #i;s dh vko';drk
gks] rks ml vko';drk dks iwjk djus ds fy, fdlh dks
fdruh jkf'k (#i;s esa) tek djuh pkfg,\

SSC CGL 07/12/2022 (Shift- 02)

(a) 5,20,000 (b) 5,70,000

(c) 4,80,000 (d) 6,00,000

61. What annual instalment will discharge a debt of

Rs.9,600 due in 5 years at 10% simple interest?

5 o"kks a Z esa 10» lk/kj.k C;kt ij ns; 9]600 #i;s ds
½.k dks fdruh ok£"kd fd'rksa ls pqdrk fd;k tk,xk\

SSC CGL 07/12/2022 (Shift- 03)

(a) Rs.1450 (b) Rs.1450

(c) Rs.1500 (d) Rs.1600

62. Find the simple interest on Rs.2,700 for 8

months at 5 paisa per rupee per month?

2]700 #i;s ij 8 eghus ds fy, 5 iSls izfr #i;s izfr
ekg dh nj ls lk/kj.k C;kt Kkr dhft,\

SSC CGL 07/12/2022 (Shift- 04)

(a) Rs.950 (b) Rs.720

(c) Rs.540 (d) Rs.1,080
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Simple Interest

63. In a certain duration of time, a sum become 2 times

itself at the rate of 5% per annum simple interest.

What will be the rate of interest if the same sum

becomes 5 times itself in the same duration?

,d fuf'pr le;kofèk esa] ,d jkf'k 5» ok£"kd lkèkkj.k
C;kt dh nj ls Lo;a dh 2 xquh gks tkrh gSA ;fn mruh
gh jkf'k mruh gh vfo/ esa Lo;a dh 5 xquh gks tkrh gS]
rks C;kt nj D;k gksxh\

SSC CGL 08/12/2022 (Shift- 01)

(a) 20 % (b) 16 %

(c) 10 % (d) 18 %

64. Anuradha invests her money in a firm where

the principal amount becomes 3 times in 10

years. What is the yearly rate of simple

interest offered by the firm?

vuqjk/k viuk iSlk ,d iQeZ eas fuos'k djrh gS] tgk¡
ewy jkf'k 10 o"kks a Z eas 3 xquk gks tkrh gS] iQeZ }kjk nh
tkus okyh lk/kj.k C;kt dh ok£"kd nj D;k gS\

SSC CGL 08/12/2022 (Shift- 02)

(a) 25% (b) 20%

(c) 22% (d) 18%

65. A certain amount will become six times in

20 years. How long does it take for the same

amount to become 5 times? Assume the same

rate of simple interest in each case.

,d fuf'pr jkf'k 20 o"kks a Z eas Ng xquk gks tk,xhA mlh
jkf'k dks 5 xquk gksus esa fdruk le; yxrk gS\ izR;sd
ekeys eas lk/kj.k C;kt dh leku nj eku ysaA

SSC CGL 08/12/2022 (Shift- 03)

(a) 16 years 8 months

(b) 15 years 8 months

(c) 15 years

(d) 16 years

66. A certain sum of money is given at a certain

rate for 3 years. Had it been given at 5% higher

rate, it would have fetched Rs.600 more. Find

the sum.

dksbZ fuf'pr jkf'k ,d fuf'pr nj ij 3 o"kks a Z ds fy,
nh tkrh gSA ;fn ;g 5» vf/d nj ij nh xbZ gksrh]
;g 600 #i;s vf/d v£tr djrh A og jkf'k Kkr dhft,A

SSC CGL 08/12/2022 (Shift- 04)

(a) Rs.8,000 (b) Rs.5,000

(c) Rs.6,000 (d) Rs.4,000

67. In how many least number of complete years

a sum of money become more than four times

of itself at the rate of 50% per annum on

simple interest?

,d jkf'k 50 » izfro"kZ dh nj ls lk/kj.k C;kt ij
de ls de fdrus iw.kZ o"kks a Z esa Lo;a ds pkj xquk ls
vf/d gks tkrh gS\

SSC CGL 09/12/2022 (Shift- 04)

(a) 9 years (b) 7 years
(c) 6 years (d) 5 years

68. A person borrows Rs.1,00,000 from a bank at
10% per annum simple interest and clears the
debt in five years. If the instalment paid at
the end of the first, second, third and fourth
years to clear the debt are Rs.10,000,
Rs.20,000, Rs.30,000 and Rs.40,000,
respectively, what amount should be paid at
the end of the fifth year to clear the debt?

,d O;fDr ,d cSad ls 10» ok£"kd lk/kj.k C;kt ij
1]00]000 #i;s m/kj ysrk gS vkSj ik¡p o"kks a Z eas ½.k dk
Hkqxrku djrk gSA ;fn ½.k pqdkus ds fy, igys] nwljs]
rhljs vkSj pkSFks o"kZ ds var eas Hkqxrku dh xbZ fdLr
Øe'k% 10]000 #i;s] 20]000 #i;s] 30]000 vkSj 40]000
#i;s gS] rks ½.k pqdkus ds fy, ik¡posa o"kZ ds var eas
fdruh jkf'k dk Hkqxrku fd;k tkuk pkfg,A

SSC CGL 12/12/2022 (Shift- 01)

(a) Rs.38,250 (b) Rs.39,490
(c) Rs.40,450 (d) Rs.36,450

69. What is the rate of interest per annum for
simple interest at which Rs.880 amount to

Rs.913 in 
1

1
2

 years?

lk/kj.k C;kt ds fy, ok£"kd C;kt nj D;k gksxh ftl ij

880 #i;s dh jkf'k 
1

1
2
 o"kksaZ eas 913 #i;s gks tkrh gS\

SSC CGL 12/12/2022 (Shift- 02)

(a)
2

2 %
3

(b)
1

2 %
4

(c)
1

2 %
2

(d)
1

2 %
3

70. A person deposited Rs.15,600 in a fixed
deposit at 10% per annum simple interest.
After every second year he adds his interest
earned to the principal. The interest at the
end of 4 years is:

,d O;fDr us lkof/ tek esa 10» ok£"kd lk/kj.k C;kt
ij 15]600 #i;s tek fd,A izR;sd nwljs o"kZ ds ckn
og v£tr C;kt dks ewy/u esa tksM+rk gSA 4 o"kZ ds var
esa C;kt gSA

SSC CGL 12/12/2022 (Shift- 03)

(a) Rs.6,655 (b) Rs.6,864

(c) Rs.3,975 (d) Rs.3,744
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71. The monthly income of Mr. Roy is Rs.18,000.
He took a loan of Rs.30,000 on simple interest
for 3 years at the rate of 5% per annum. The
amount that he will be paying as simple
interest in 3 years is what percent of his
monthly salary?

jkW; dh ekfld vk; 18]000 #i;s gSA mlus 5» dh
ok£"kd nj ls 3 o"kZ ds fy, lk/kj.k C;kt ij 30]000
#i;s dk ½.k fy;kA og 3 o"kks a Z esa lk/kj.k C;kt ds
:i eas ftl jkf'k dk Hkqxrku djsxk] ;g mlds ekfld
osru dh fdruh izfr'kr gS\

SSC CGL 13/12/2022 (Shift- 01)

(a) 30% (b) 35%

(c) 20% (d) 25%
72. A sum of Rs.10 is lent by a child to his friend to

be returned in 11 monthly instalments of Rs.1 each,
the interest being simple. The rate of interest is:

,d cPps us 10 #i;s dh jkf'k vius nksLr dks 1 #i;s
dh 11 ekfld fd'rksa eas ykSVkus ds fy, m/kj nh] C;kt
lk/kj.k gSA C;kt nj gS%

SSC CGL 13/12/2022 (Shift- 02)

(a)
9

11 %
11

(b)
9

21 %
11

(c)
2

10 %
11

(d)
1

9 %
11

73. A person borrowed Rs.2,000 at 5% annual
simple interest repayable in 3 equal annual
installments. What will be the annual
installment?

,d O;fDr us 3 leku ok£"kd fd'rksa esa izfrns; 5»
ok£"kd lk/kj.k C;kt ij 2]000 #i;s m/kj fy,A ok£"kd
fd'r D;k gksxh\

SSC CGL 13/12/2022 (Shift- 03)

(a)
10

730
63

(b)
9

840
61

(c)
11

640
63

(d)
10

250
63

1.(c) 2.(a) 3.(c) 4.(b) 5.(b) 6.(b) 7.(b) 8.(b) 9.(b) 10.(b)

11.(c) 12.(b) 13.(b) 14.(b) 15.(b) 16.(c) 17.(a) 18.(a) 19.(d) 20.(b)

21.(a) 22.(b) 23.(c) 24.(b) 25.(b) 26.(c) 27.(a) 28.(d) 29.(d) 30.(a)

31.(b) 32.(c) 33.(a) 34.(d) 35.(b) 36.(d) 37.(a) 38.(c) 39.(a) 40.(a)

41.(a) 42.(b) 43. (a) 44. (c) 45.(b) 46.(a) 47.(b) 48.(a) 49.(c) 50.(d)

51.(c) 52.(a) 53.(c) 54.(b) 55.(c) 56.(b) 57.(b) 58.(c) 59.(b) 60.(c)

61.(d) 62.(d) 63.(a) 64.(b) 65.(d) 66.(d) 67.(b) 68.(b) 69.(c) 70.(b)

71.(d) 72.(b) 73.(a)

ANSWER KEY
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Simple Interest

SOLUTION
1. (c)

Case-1

Principal = 12,000

Rate = r%

Time = 4 month

Case-2

Principal = (12,000 + 6,000) = 18,000

Rate = 2r%

Time = 8 months

Total SI = Rs.2800

SI = 
P × R × T

100

Accoding to the formula

2800 = 

4
12000 r

12

100

  
      
 
 
 
 

+

8
18000 2r

12

100

  
      
 
 
 
  

  2800 = 40r + 240 r

  280r = 2800

  r = 
2800

280

  r = 10%

 The initial rate of interest was 10%.

2. (a)

Total sum of simple interest on the loan for
3 years at r% and Simple interest on double

the amount for next 5 years at(r – 2)% is
13,600.

Simple interest for 
34

3
 years on initial loan

and initial rate is 13,600

Simple Interest = 
P × R × T

100

Where P  Principle amount

R   Rate  of interest

T   time

Simple interest on the loan for 3 years at r%
+ Simple interest on double the loan amount
for next 5 years at (r – 2)% = 13,600


3

P r
100

 
  

  
 + 

5
2 P (r – 2)

100

 
   

  
 =13,600

  3 × P × r + 10 × P × r – 20 × P = 13,600 × 100

  13 × P × r – 20 × P = 13,60,000 _____ (1)

Simple interest for 
34

3
 years on initial loan

and initial rate = 13,600

  
(P r 34)

(3 100)

 

  = 13,600

   P × r = 1,20,000     _____(2)

Put the value of eq. (2) in eq. (1)

  13 × 1,20,000 – 20 × P = 13,60,000

  20 × P = 15,60,000 – 13,60,000

  P = 
2,00,000

20

  P = 10,000

 The initial loan amount is Rs. 10,000.

3. (c)

S.I. on 6500 = 
6500 × x × 3

100
= 195x

S.I. on Rs.7500 = 
7500(x – 2) × 3

100

= 
7500 × x × 3 – 15000 × 3

100

= 225x – 450

Total interest = Rs.3750

195x + 225x – 450 = 3750

420x = 4200

x = 10

Rate  x% = 10%

4. (b)

According to the question,

(t + 2) × 8 = t × 10

8t + 16 = 10t

2t = 16

t = 8

Given that amount is also equal.

Let principal = 100%

Then,

100% + 8 × 10% = 36900

180% = 36900

100% = 20500

Sum = Rs.20500
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Simple Interest

5. (b)

Given,

S.I. = 
1

3
sum

S.I. 1
=

Sum 3

We know that,

S.I. = 
PRT

100

1 = 
3 × x x

×
100 3

x = 10

6. (b)

S.I. of x = x × 6% × 2 = 12x%

S.I. on y = 9% × y × 3 = 27y%

A.T.Q.

12x% = 2 × 27y%

x = 4.5y

7. (b)

Given,

Simple Interest = Sum.

Rate = Time

We know that,

S.I. = 
P × R × T

100

1 = 
1× T × T

100

T = 10 years.

8. (b)

Let the amount invested be 100 and rate of

interest be x.

S.I. for 5 years = 
100 × 5× x

100
 = 5x

Amount = 100 + 5x

S.I. for 3 years = 
100 × 3× x

100
 = 3x

Amount = 100 + 3x

A.T.Q. 100 + 5x = 
5

4
 (100 + 3x)

400 + 20x = 500 + 15x

5x = 100

x = 20%.

9. (b)

S.I. = 
2000 × 8× 6

100 ×12
 = Rs.80

Amount = 2000 + 280 = Rs.2080

10. (b)

S.I. on Rs.18600 at x% for 3.5 years

= 
18600 × x × 3.5

100
= 651x

S.I. on 37200 at (x + 2%) p.a. for 3.5 years

= 
37200 × (x + 2) × 3.5

100
 = 1302x + 2604

Total interest = 651x + 1302x + 2604

= 1953x + 2604

1953x + 2604  23110.50

1953x  20506.50

x  10.5

Rate = x% = 10.5%

11. (c)

Let the amount be x.

After 1 year the amount becomes 1.1x out of

which 4400 is repaid. Interest for record year

= 20% of (1.1x – 4400)

(1.1x – 4400) 11
= (1.1x– x)

5 7

7.7x – 30800 = 55 (0.1x)

2.2x = 30800

x = 14000

12. (b)

Principle for I year = 10,000.

 Interest 
10

= 10,000 = 1000
100



For remaining two years, Principle would be

7000, so interest that he will pay in 2 years

10
= 7000 2 = 1400

100
 

 Total interest = 1400 + 1000 = 2400

13. (b)

Let after n years both the sums amount to

equal amounts.

Then, 
5 (n 2) 10 n

1000 1 = 800 1
100 100

     
    

      

i.e., 
15n

1.5 =   n = 10
100



Hence, 12 years after Veeru invested their

balance will be equal.
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14. (b)

Ratio of interest of S : B : G = 3 × 6 : 4 × 5 : 5

× 4 = 9 : 10 : 10

Interest income of Suchita, Babita and Garima

can be taken as 9x, 10x and 10x respectively.

Total income = 29x

Difference between Babita and Suchita's

income by interest = 250 = (10x – 9x) = x

Total income from interest = 29 × 250 = 7250.

15. (b)

Let x be amount elder daughter get at the time

of will.

 younger daughter got = 35,00,000 – x

Time for elder daughter’s interest = 21 – 16

= 5 yrs. at 10% p.a. and younger daughter’s

interest for = 21 – 8.5 = 12.5 years at 10% p.a

ATQ,

5 10 x
x

100

 
  = (35,00000 – x)

12.5 10 (35,00000 – x)

100

 


 
50x

x
100



= 35,00000 – 
125

x
100

  35,00000 
125x

–
100

200x 50x 125x 9
 = 35,00000

100 4

 
 

 x = 21,00000 = 21 Lakh.

16. (c)

Here, 
1

n =
12

, r = 6%

 P = 19000 + 18000 + 17000 + ......... + 10,00

 P = 1000 (1 + 2 + ............. + 19)

 P = 1000 × 
19 20

2


 = 190000

190000 6 1
 S.I = 

100 12

 



S.I = 950

 Last installment = 1000 + interest

= 1000 + 950 = 1950

17. (a)

Rate = 18% p.a

year '2013' has 365 days

18
 Rate = %

365
 per day

From 5th Feb to 18th April there are 73 days

3000 18 73
 SI = = 108

100 365

 




18. (a)

Let sum be x.

ATQ,

 
4 3

x 2 4000 – x 2 = 280
100 100


     


 8x + 24000 – 6x = 28000

 x = 2000

 Remaining amount is

4000 – 2000 = 2000 and hence the ratio is 1 : 1

19. (d)

Let, the installment be equal to 'x'

At the end of I year, amount paid = 1.05 x.

At the end of II year. amount paid = x

 Total amount paid = 2.05x = 1025 Rs.

 2.05x = 1025

 x = 500

20. (b)

Change in rate:- 25%    Old New

      4   5

      1  672

 4  2688

       5  3360

 P = 14688 – 2688 = 15000

Interest per year 
2688

= = 672
4

r% = 
672 100

×
15000 1

 Rate = 
672

150
 = 4.48%

21. (a)

Let two parts be x and y

ATQ,

42 20 11 8
x 2 y

5 300 4 100
     

x 11 25 11
 = =
y 25 14 14

 

Now,

11 + 14  10,000

     25  10,000

       3  1,200
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22. (b)

Given, Rate = 9.25%

Interest for 5.4 yrs. = 9.25% × 5.4 = 49.95%

 Amount = 149.75%

     

149.75%  14395.2

14395.21%        
 

149.95





           
14395.28.6%  8.6
149.95

 

 For 4.5 yrs.  
14395.2

149.95
× 8.6 × 4.5 = 3715.20

23. (c)

We know, Rate 
100 Interest

=
P Time




, Interest = 50

          Principle

I.   yr.    1150

II.  yr.    750

350III. yr.
  

2250Total

100 50 20 2
 Rate = = = 2 %

2250 1 9 9






24. (b)

( )

1 3

R% R +4 %

4125
8.25% ×100%

2×25000
=8.25%

1R + 3R +12
= 8.25

4

4R + 12 = 33
4R = 21
R = 5.25%
Second rate = 9.25%

25. (b)

Total simple interest = 2 × 6% + 3 × 10% + 2 × 12%

= 12% + 30% + 24% = 66%

66% = 12771

100% = 19350

26. (c)

I × 4% = II × 5% = III × 8%

I II III
= =

10 8 5

IInd amount invested at 5% = 
57500

× 8
23

= 2500 × 8 = 20,000

27. (a)
I × 3% = II × 4% = III × 6%

I × 3 II × 4 III × 6
= =

12 12 12

I II III
= =

4 3 2

IIIrd amount invested at 6%

= 
9000

× 2
9

 = 2,000

28. (d)

12800

I II

36% 36% + 9%

36
12800 × = 4608

100

II × 9% = 477
II × 1% = 53
II × 100% = 5300

29. (d)

17200

I II

16% 16% + 4%

16
17200 × = 2752

100

II × 4% = 256
II × 100% = 6400
at 8%(I) = 17200 – 6400 = 10800

30. (a)
Let two children a and b:
a + (a × 4.5 × 12%) = b + (b × 4.5 × 8%)
a × 154% = b × 136%

a 68
=

b 77

share of small chid = 
21750

× 68
145

 = 10200

31. (b)

P ×16 ×10 P × 8 7
– P + × = 2944

100 100 2

 
  

160P 256P
– = 2944

100 200

160P – 128P = 294400
32P = 294400
P = 9200
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32. (c)
2 year S.I = 12780 – 11268
2 year S.I = 1512
1 year S.I = 756
3 year S.I = 2268
P = 11268 – 2268 = 9000

R = 
756

×100%
9000

= 8.4 %

33. (a)

In 3 years sum becomes = Rs.49600
In 5 years sum becomes = Rs.56000
In 2 years, S.I. = 6400
In 1 year = Rs.3200
In 3 years = Rs.9600
Sum = 49600 – 9600 = Rs.40000

Rate = 
3200

×100
40000

= 8%

If rate is 2% more then sum becomes double.
S.I. = 40000

S.I. = 
P × R × T

100

40000 = 
40000 ×10 × T

100

T = 10 years.
34. (d)

S.I. for 4 years at 9.5% p.a. = 4 × 9.5 = 38%

S.I. for 3 years at 12.5% p.a. = 12.5 × 3 = 37.5%

Difference between S.I. = 38 – 37.5 = 0.5%

0.5% = 225

1% = Rs.450

Sum = 100% = Rs.45000

35. (b)

 12%  of 260000

 Rs.31200
 It is used for awarding 24 scholarships of equal

value

= 
31200

24
= Rs.1300

Value of each scholarship = Rs.1300

36. (d)

S.I. for 7 years at 10% = 70%

S.I. for 12 years at 10% = 120%

Difference between S.I. = 120% – 70% = 50%

50% = 2500

1% = 50

Amount = 100% = Rs.5000

37. (a)

In 3 years, sum becomes = Rs.9766

In 4.5 years, sum becomes = Rs.10849

In 1.5 years, S.I. = 1083

In 1 year = Rs.722

In 3 years = Rs.2166

Principal = 9766 = 2166 = Rs.7600

Rate = 
722

×100
7600

= 9.5%

R = 9.5
38. (c)

We know that.
S.I.  PRT
If principal remains constant
S.I.  RT
Given in question, man invest in the name
of his son, daughter and wife.
and S.I. is same for all.
3 × 5% × S : 4 × 5% × D = 5 × 5% × W

S

20

D

15

W

12: :Principal

47  Rs.105750
1  Rs.2250
Amount invested for wife = 12
= 12 × 2250
= Rs.27000

39. (a)

S.I. = 
P × R × T

100

1008 = 
4000 × x × 3

100
x = 8.4%
If the rate becomes 2.6% more then r
= 8.4 + 2.6 = 11%

S.I. = 
4000×11×3

100
      = Rs.1320
Amount = 4000 + 1320
             = Rs.5320

40. (a)
In 4 years, sum becomes = Rs.9246
In 7.5 years, sum becomes = Rs.11298.75
In 3.5 years S.I. = Rs.2052.75
In 1 year S.I. = 586.5
In 4 years, S.I. = 4 × 586.5 = 2346
Principal = x = 9246 – 2346 = 6900

Rate = y% = 
586.5

×100
6900

= 8.5%

y = 8.5%
41. (a)

A.T.Q.
3(r + 2)% – 3r% = 16510 – 15748
6% = 762
1% = 127
Principal = 100% = 12700
If sum becomes 15748 in 3 years at r% rate.
S.I. = 15748 – 12700 = Rs.3048

3048 = 
12700 × r × 3

100
r = 8%
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42. (b)

A.T.Q.

(x + 3)% × 2.5 – x × 2.5 = Rs.585

7.5%  Rs.585

1% = 78

Principal = 100% = Rs.7800

S.I. on same sum for 
2

4
3

 years at 14% p.a.

S.I. = 
7800 14

× ×14
100 3

= Rs.5096

43. (a)

In 5 years = Rs.4600

In 8 years = Rs.6000

In 3 years, S.I. = 1400

In 1 year = 
1400

3

In 5 years = 
7000

3

Principal = 4600 – 
7000

3

= 
13800 – 7000

3

= Rs.
6800

3

Rate = 1400

3 ×100
6800

3

 = 
1400 350

= %
368 17

Now S.I. of 8500 for 
1

6
2

 years at 
350

%
17

S.I. = 
8500 13 350

× ×
100 2 17

 = Rs.11375

44. (c)

If he defers the payment for 1 year he get

only 200 pieces

So, interest = 300 – 200 = 100

R = 
100

×100
200

= 50%

45. (b)

Let rate% for Bachat scheme be r%.

So, A.T.Q.

(r + 2)% × 3 – 3r% = 540

6% = 540

1% = 90

Principal = 100% = Rs.9000

Kirti invest total of Rs.9000.

46. (a)

Sum is divided in to two parts A and B

A.T.Q.

 2 × 15% A = 4 × 15% B

 
A 2

=
B 1

3  Rs.36000

1  Rs.12000

A = 2 = Rs.24000

B = 1 = Rs.12000

S.I. on A = 
24000 ×15× 2

100
 = Rs.7200

47. (b)

P R T
S.I =

100

 

A.T.Q,

1 2

8000 3
[R – R ] = 800

100



1 2

10 1
 R  – R = = 3 %

3 3


48. (a)

A.T.Q,  
P 21 8 8

=
P 21 21 21

 

 
 8 : 21

49. (c)

Let, Rate = R%

X 5 R 2
 = X

100 5

 


 R = 8%

50. (d)

Given, Amount = 3 × Principle

 S.I = 3P – P = 2P

A.T.Q,

P R 9
= 2P

100

 

200 2
 R = = 22 %

9 9


51. (c)

T
1
 = 3 yrs. , T

2
 = 5 yrs.

R = 14%

ATQ,

P 14 2
4200

100

 


P = 15000
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Simple Interest

52. (a)

Amount on interest = 7500 – 3500 = 4000

ATQ,

9 4
4000 = 120

100 12
 

53. (c)
Amount = 5664
T = 4 yrs.
R = 12%

Installment 
100 A

=
R t (t– 1)

100 t
2





100 5664
=

3
400 48

2



   
100 5664

=
472


= 1200

54. (b)

Whole interest rate 
223

= 100
5000

 = 4.46%

By Allegation:

4

0.54

27

5

0.46

23:

4.46

27
 at 4% 5000

50
  

   2700

55. (c)

15500
× SI

P + SI

15500
= × 210 = 10500

310

56. (b)

In 26 yrs. 
I 2P 2

= =
P P 1

Now,

5 time Principle = Amount

I 4
 =
P 1



  26 yrs.  2 times Interest.

 for times interest  26 × 2 = 52 yrs.

'OR'

21

1 2

InterestInterest
=

Time Time

2 4
 =
26 x



 x = 52 yrs.

57. (b)

Total Amount paid in installments

= 20 × 25000

= 5,00,000

Also, Rate = 10%

 Amount on which interest is liveied

500000
= 10

11
  = 4,54,545.455

 Down payment = 6,50,000 – 454545.455

 1,95,455

58. (c)

ATQ,

23000 × 3 × R + 19000 × 4 × R = 3625

(69000 + 76000) R = 3625

R = 
3625 5

=
145000 23

= 2.5%

59. (b)

P 7 11
= P – 920

100

 

 77 P = 100 P – 92,000

 23 P = 92, 000

P = 4,000

60. (c)

Amount 1.25 5
= =

Principle 1 4

I 1
 =
P 4



1
3 yrs.

4

7
7 yrs.

12





After 7 yrs.

Amount 19 76,0000
 = =
Principle 12 x



  x = 4,80,000
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Simple Interest

61. (d)

Installment 
100 A

=
(t– 1)

100 t R t
2





100 9600
=

500 50 2



 

100 9600
=

600


 = 1600

62. (d)

P = 2700

8 2
T = = yrs.

12 3

5
R = 12

100
  Per annum

2 5
S.I = 2700 12

3 100
    = Rs. 1080

63. (a)

21

1 2

RateRate
=

Interest Interest .........(1)

A 2 I 1
=

P 1 P 1

A 5 I 4
=

P 1 P 1

 

 

From..(1)

2Rate5
 =
1 4



 Rate
2
 = 5 × 4 = 20%

64. (b)

A = 3P

 I = 2P

T = 10 yrs.

2P 100
R =

P 10
 = 20%

65. (d)

I 5

P 1


1I 4

P 1


1

1 2

I I
=

Time Time

2

5 4
 =
20 Time



 Time
2
 = 16 yrs.

66. (d)

%, Time = 3 yrs.

R1 = R + 5%

 For 3 yrs. 15% more

 15  600

 100  4000

67. (b)

Rate = 50% 
1

=
2

1
P 1 year

2


1
6 P = 3P 6 years

2
 

more than 3P  more than 6 years.

= 7 years  least

68. (b)

Amount to be paid       Amount paid      Remaining

end of I. yr.      110000 10,000 1,00,000

end of II. yr. 110000 20,000 90,000

end of III. yr. 99000 30,000 69,000

end of IV. yr. 75900 40,000 35,900

end of V. yr.   39490

 Vth installment to year dues = 39490

69. (c)

Interest = 913 – 880 = 33

33 100 2
Rate =

3 880

 



5
= = 2.5%

2

70. (b)

Interest for first 2 yrs. 
10

= 2
100

  × 15600

= 1560 × 2 = 3120

Principle for 3rd yr. = 15600 + 3120 = 18720

Principle for next 2 yrs. = 18720

18720
 Interest = 2×

100
 × 10 = 1872 × 2 = 3744

 Total interest after 4 yrs.

= 3120 + 3744 = 6864
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Simple Interest

71. (d)

S.I in 3 yrs. 
5

= 3
100

 × 30,000 = 4500

Required% 
4500

 100 = 25%
18000

 

72. (b)

Let Rate = R%

 Total effective payment

1 R 10 1 R 9 1 R 1
= 1 1 ... 1 1

100 12 100 12 12 100

          
                

       

10R 9R R
= 1+ + 1+ +.... + 1+ +1

1200 1200 1200

     
          

R(1 2 .... 10)
= 11

1200

  


10 11
= 11 R

1200 2

 
   
 

11R
= 11

240
 .....(1)

Amount to be paid (if at the end of 11 months)

10 11 11R
= 10 R 10

100 12 120

  
         

.....(2)

From (1) and (2)

11R 11R
10 11

120 240
  

11R
 = 1
240



240 9
 R = = 21 %

11 11


73. (a)

100 A
Installment

Rt (t – 1)
100t

2






2000 5 3
Amount = 2000 + 

100

 

= 2000 + 300 = 2300


2300 100

Installment = 
300 15





230000
=

315

10
= 730 

63
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